MATH 111

So\ubons .

Name:

Quiz 1

partial credit. Any questions, just ask. Calculators are not allowed,

This quiz is worth 66 points. There are 8 questions and you have 30 minutes Lo complete them.
Attempt all questions and show all neccessary work. Do not just word vomit. If you get stuck and
cannol answer a question, write down, using words, what you would kke to do and you may receive

1. (8 points) Give an examiple of each of the following;

(a} A natural number ‘
Answer:
(b) An integer that is not a natural number - ‘Z
Answer:
. . . !
(c) A rational number that is not an integer 92
Answer:

(d) An irrational number J‘ZT

Answer:

2. (6 points) Evaluate the arithmetic expression: 2+ [3-6— 5 (2- %)]
= -2+ [15’— (15 - I)]
==2 + [\® - ’—'r:l
= -7 + b

| 8

Answer:

3. (8 points) Expand the expression:

(a) 3(r+7)

- 30+

doc + 2\

Answer:
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(b} 3c{Gab — Shd)

. _2c-Gab - 3c (-5

——

-1l 115k

Answer:

4. (6 points) Decide which symhaol (<, > or =) should go in the space

(n) 3 £ I (l)),E of 0.67 {¢) 3.5 = I
3 < 2

5. (6 points) Find the indicated set if A = {1,2,3,4,5,6,7}, B = {2,4,6,8} and C = {7,8,9, 10}:

§1,2,%,4,56,7, 3%

(a) AUDB
Answer:
h) AnC
Answer: { 7—5
¢y BucC
o Answer: ZZ’L‘-I 6/71 g;q I‘O}

6. (9 points) Using the number line helow, graph the following intervals. Clearly label which is which.

(a) (=3,0) (1) (2,6} (¢) [-5,3]

7. (11 points) Fill in the table below:

a
—_—— e P
(ah)' = O " a "= -b‘—:;\

Cont.
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8. (12 points) Factor the following expressions.

(n) »* 36 - ‘xq' — 61

(¢ -&Yx+6 )

Answer:

() dz* — 22 4 62 -2
S (3xtoxt) 4 (6 -2)
= (o) +2(33¢-—\)

(:)C’L—'rZ)(?)JC - ‘)

Answer:
(c) 822+ 102+ 3 8’3:242 b » o

:(E?_DL2+ lx) +(6x -3—3)
o Lroc(20e + ) +3(20c+1)

(UoxA23)(20c+1)

Answer:

The End.







